ot 1A cosx +siny 9] 4 L5kt
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cos x +siny =
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3. sinA=0.6 %", cosA+tan A & FE ForA? (T, 0°<A<90°
)

D 0.5 @ 0.6 ® 0.7 @ - 3L

B ,

sinAzO.6:§ olmz
4 3
= — —_— - o
cos A 2 tan A 7 =3
4 3 31
A A A:— —_ = _ 0 :
wHehA] cos A + tan == k=
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@Sin25° @ cos0° ® cos10°®

@ tandb° ® tan60°

B

@ sin25° 2 @ cos 10°

0°<x<45° Y o, sinx < cos x
w2tA sin25° < cos 10° < 1

@ cos0° =1
@ tan45° =1
® tan60° = V3

whaba] 713 2R 7S O sin25°




21Zk4r 7+ ABC ©|A AB = 8cm
BC =4V3cm & uf, /B o] 27]=?

D 15° 2)30° ® 45°
@ 60° ® 75°




7. T 2™ AABC oA AZHH]|9] 5 H1il a o] & 75

T sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724

vV V¥

D 13.642

a= 20X cos47° = 13.642
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ABC O] A tanA x sin A 9] Zk-&? !

1 5 9
(D% ®% ©)

2 720
@5 ® 2

AC = V152 -92 = V144 = 12

9 9 9
A inA = —x — = —
tan A X sin 12><15 20
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@301+ V3) @ 32+ V) ® 3(2- V3)
@ 3(2+ V5) ® 3(3-V5)
cosC = %:% OB 2 ginC = \/TE,taHC: V3 o]t}
83— ACtanC = AC x V3 =3, AC = — — v3 o],
V3

sjetarats A 2]o] ofsf BC = /3% 4 (V3)2 =23 o[t}

w2bA A2 ABC o] B39 Aol 3+ V3+2V3 =3+3V3 =
3(1+ V3) ot
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A x?—(a+2)x+3a+2 =02 g o] 2tan45° &

o2 A x2 — (a+2)x+3a+2=00l x=2tand5°=2 &
HASHH 22— (a+2)x2+3a+2=0
4-2(a+2)+3a+2=00°|c}.

Soa= -2




12. sin?30° x tan?60° = cos? 60 ° 2] & otof et
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AA y = V3r—30] xEi} o] Rk o7ke] 715 Patoiat
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> Hehl 60°

w2} A tana = V3, a = 60°°]Th.




14. v5 J83} Zo] ¥ixl 5] o7k 1 Y A2l o & €8 A

HEnew? (dE 274

oo !

. — AB AD _
@smA—AB @ G- AiE @COSA—AD

AC ~ AE
— BC DE
@ tan A = DE ® A—C—E

tlo

\\/. [_
A B D
BC BC ——
sin NG 1
AB AB
@ A—=:—:
cos 30 1
. . AB AD
@smC—smE—E_ﬁ
DE DE —
@ tanA = — = — =DE
an v 1
BC DE

@ cosA=735= 15




o] dxBolt}. sinx & cosx =

F\B
X
o
S S BC
D)BC, AC @ AC, BC ® e AC
__ BC .
@ AC, — ® AE, AC
AC
sinx:ﬁ:@:B_
AB 1
COS)C:£:A—C:_C
AB 1




16.

The i 41710 ke a4 WA A7) Lhehd Aolet,

S vhEs dend 28wl BT m2w?

Zte sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1,1918
70° 0.9397 0.3420 2,7475
89° 0.9998 | 0,0175 | 57,2900
H7]

@ sin20° = 0.9848
© tan50° = 0.6428

1
@) 3 cos70° = 0.8192

© cos45° =0.7071

® 2sin10° = 0.3420

® 3tan45°=3

va0 066 Goe oee 660

B

@sin 20 ° = 0.3420
© tan50° = 1.1918

®2sin10° =2x0.1736 = 0.3472

1 1
@5 cos70° = 3 % 0.3420 = 0.1710
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Zte sin cos tan

10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0,3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000

50° 0.7660 | 0.6428 1,1918
70° 0,9397 | 0,3420 2,7475
89° 0,9998 | 0,0175 | 57,2900

H7]
@ sin20° © cos35° © sin70°
® cosb50° @ tan70°

P8 006 06 ®oe O3 e

B ~

@sin 20 ° = 0.3420

Ocos 35° = 0.8192

©sin70° = 0.9397

®cos 50 ° = 0.6428

@tan 70° = 2.7475

ol 7pF L8 7+8 Fsin20° , 7HF 2 S @tan70° =
2.7475
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19. x o T oA A] 22 11x +a = 0 9] T 20| sin90° + cos0°
A o), a 9 kS FohE?

@ @ 13 ® 12 @ 11 ® 10

OIAA A 2% — 11x+a = 0ol x = 2 B HASHH, 222 -
11X2+a=0
8—22+a=0,a=14




20.

45°<A<90° ¥4 ™, \/(sinA - cosA)?— /(sinA — cosA)? & It
3] spH?

23 @i 022 @2 G

45° <A <90° ¥ I sinA > cosA ©| B2
(sinA — cosA) — (sinA — cosA)
=sinA —cosA —sinA + cosA =0




